من التوزيع التكراري التالي احسب D2,Q3,P90,HG,SD'
	التكرار المتجمع
	الفئات الفعليه
	التكرار
	الفئات

	3
	4.5-9.5
	3
	5-9

	10
	9.5-14.5
	7
	10-14

	20
	14.5-19.5
	10
	15-19

	25
	19.5-24.5
	5
	20-24

	30
	24.5-29.5
	5
	25-29


                                                                                            40               TOTAI

P90==رتبة المئين90
90÷100×40=36
P90=24.5+36-25÷5×5
24.5+155
=169.5

Q3=P75
رتبة المئين
P75=75÷100×40
=30
 24.5+30-25×5=Q3
5
149.5

D2=P20
رتبة المئين=2÷100×40
=0.8
9.5+0.8-3×5=D2
7
=11.357

الوسيط=P50=Q2=D5

50÷100×40=P50
=20
1405+20-10÷10×5
=19.5
